Swift v. Gifford:   Reading Comprehension Self-Quiz

Correct Answers, Comments & Explanations

Correct answers in bold type; Prof’s comments & explanations in Italics.
(1) The court says on page 69 that the “only disputed question of fact … was concerning the reasonable probability that the whale would have been captured by the Rainbow, if the boats of the Hercules had not come up.”  How did the court resolve that question?

(a)  It implicitly made a finding of fact that it was reasonably probable that the Rainbow would have captured the whale if the boats of the Hercules had not come up.

(b)  It implicitly made a finding of fact that it was not reasonably probable that the Rainbow would have captured the whale if the boats of the Hercules had not come up.  The court says on the very bottom of page 69, “it would be impossible for me to say that the crew represented by the respondent, though continuing the chase, had more than a possibility of success.”  If the court does not have enough evidence to say “there was more than a possibility,” it necessarily does not see enough evidence to find that the capture was “reasonably probable,” a much higher standard than “a possibility.”
(c)  It stated that it was unable to resolve the question.

(d)  It refused to address the question because it decided the case on the basis of custom. 
(2)  Which of the following accurately describes the custom whalers express as “the iron holds the whale?” 

(a) The whaling ship that first puts a harpoon in a whale gets absolute property rights to that whale.
(b) The whaling ship that first completely shackles a whale with iron implements gets absolute property rights to that whale.  

(c) The whaling ship that first uses iron blades to cut into a whale gets absolute property rights to that whale.  

(d)  None of the above. The custom is that the whaling ship that first puts a harpoon in a whale gets property rights to that whale only if that ship claims it before a second ship cuts into the whale. 
(3) The court says on page 70 that, “The validity of the usage is denied by the libellants, as overturning a plain and well-settled rule of property.”   In the context of the court’s analysis, what does this sentence mean? 

(a)  The libellants argued that the court should not treat the custom relied on by the respondents as legally binding on the parties.  Their argument was that the court should not apply the custom where it was inconsistent with a “plain and well-settled” legal rule.  
(b)  The libellants argued that the custom relied on by the respondents did not exist. “The parties filed a written stipulation” that the custom existed and covered the situation in this case. 
(c)  The libellants argued that the custom relied on by the respondents existed, but did not cover the factual situation at issue in this case.  Same as (b).
(d) None of the above.
(4) The court treats all of the following concerns as relevant to whether to treat an industry custom as legally binding except: 

(a) Whether applying the custom might disturb the settled understanding of some of the relevant parties. The court refers to this concern when it says, “it will not be open to the objection that it is likely to disturb the general understanding of mankind by the interposition of an arbitrary exception.” (p.70)  
(b) Whether applying the custom might prevent dangerous quarrels.  The court says, “Every judge who has dealt with this subject has felt the importance of upholding all reasonable usages of the fishermen, in order to prevent dangerous quarrels in the division of their spoils.” (p.70)  
(c) Whether the custom is observed everywhere that the industry is practiced. Although the court is concerned about whether everyone in a particular area  is using the same custom, the court does not require that all whalers in the world adhere to a particular custom before the court will treat it as law. Thus, the court refers with approval to Fennings, which treated a custom of the “Southern fishery” as binding even though it “differed entirely from that prevailing in the North Atlantic….”(p.70)
(d)  How long the custom has been observed.  The court cites Bourne with approval for the proposition that “although local usages of a particular port ought not to be allowed to set aside the general maritime law, this objection did not apply to a custom which embraced an entire business, and had been concurred in for a long time by every one engaged in that trade.” (p.71)
(5) In the first full paragraph on page 71, the court discusses Bartlett v. Budd. Which of the following best describes how the court deals with Bartlett?

(a)  It follows Bartlett by holding that the killer of a whale gets superior property rights to the finder. The court does not “follow” Bartlett, because it relies on custom, and also does not hold that the killer always gets superior rights.
(b) It follows Bartlett by refusing to apply an unreasonable custom as law. Again, the court does not “follow” Bartlett, because it relies on custom.
(c) It overrules Bartlett, by adopting as binding law the custom rejected by Bartlett.  The court does not overrule Bartlett.  Among other evidence of this, is the court’s phrase “And I still think …” indicating the judge remains satisfied with some of the reasoning in Bartlett. 
(d)  It distinguishes Bartlett, finding the part of the custom relevant in Swift to be reasonable. This is what the last sentence of the paragraph means. 

